
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

6th Month, 4th Week, 4th Day Review Exercise 12 Q # 5

 Answer the following questions:  
Q.1. A spinner is divided into 8 equal sectors numbered 1 through 8. If the

spinner is spun, is it certain, likely, unlikely, equally likely or impossible

that it lands on a number less than 5? Also, find its probability of

numbers less than 5.          (1x10=10)

 881 
 5  5 

- - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - 
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